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Fujita, Krugman and Venables

(1999; pp 45 - 75)

1.1

Cobb-Douglas
U=M"A"" (3.1.1)

M (composite index) A

(continuum)
(subutility function) m(i)
n
(“number” of available varieties) M

(constant-elasticity-of-substitution; CES)

1

M :gZ‘jn(i)rdig 0<r <1 (3.1.2)
€o u
(3.1.2) ot Pl

‘
0

s°Yl-r

Y p*
p(i)
p* A+ (i )m(i)di =Y (3.1.1)
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m()

n én 4e
mingp@i)m(i)di  st. gan(i)'dig =M, (3.1.3)
0 €o a
| (compensated demand
function)
VY -1)
m(j)=—P i, (3.1.4)
Cniy /- Y
éop(i) dig
€o a
(3.1.4) M (function of minimum

expenditure)

(1 -D)fr

J PPNV SRRt
Op()m(i)dj = gOp(M)/“ Vdig M, (3.1.5)
0 €o u
(3.1.5)
n J(ts)
€
Go ap()tdig (3.1.6)
o a
s©° ]/(1 r), m(i)
oy (-1 0y S
m(j) = Ty —@)o -y (3.1.7)
8 G g 8 G g
maxU =M"A"™ st GM + p*A=Y, (3.1.8)
(uncompensated demand function)
Y
A=(1- m)F (3.1.9)



o PO o
m(J)_m{G_(S_l) for jT[0,n], (3.1.10)

G
S
(indirect

utility function) ,

V=n(1- m e (pf) 7, (3.1.11)

G”‘(pA)(l'm) (cost-of-living
index) Dixit-Stiglitz
oV
an s
G=gp() dig = p"nf**), (3.1.12)
éo a
s >1 n G
1.2
R
(location)
(symmetric)
r
n, (mill price)
(f.o.b price) p"

(cost of trade) von Thunen



Samuelson (iceberg)

r s
S ]/Tr: g]/TrQA EI Tr? grrgl1 H 1
T23 1gTY 21y (te-1) (t¥-1)
TS 8T |
)
P’ s (C.i.f
price) pH
Pl =P T (3.1.13)
(3.1.12) s
4 R o)
G, =c nr(IOrMTrZA)1 i .s=1..R (3.1.14)
er=1 u
(3.1.10) s r
ny, (pTY ) Gl
T R r
M S MM\ S A s-1—M
o' =ma Y.(p'TY) G, (3.1.15)

s=1



1.3

Ke (fixed set-up)
1 a
R
W 1 RK: +W"a,
qM
TCY =RK. +W"aq", (3.1.16)
(increasing return)
(constant
return) 1
T =1
(numeraire) ph =
(3.1.16) r
P =p'q" - RKe - W"a g, (3.1.17)
(3.1.15)
M
ot = 2N (3.1.18)
r
Dixit-Stiglitz
Chamberlin
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(excess profits)

(derived demand)

Pr

Chamberlin

(normal profit)

g = i/)vF“iKF | (3.1.19)
avv
(3.2.1) (3.1.15)
R
=ma Y.(p'TY) G (3.2.1)
s=1
(3.2.2)
1
ém & F
P =g a %) G *rrsu, (3.2.2)
e =1
qM
(3.2.2) p g
(3.2.3) (3.1.18)
M
L (3.2.3)

&



(3.2.3)

r=a (3.2.3)

pM sz
(3.2.5)
qM — RKF
T nw!
1
S =——— 3.2.5
T ( )
sK
g = WFMR
K: =1 (3.2.6) (3.2.7)
S
q' =WrFf;,
(3.2.4) (3.2.7) (3.2.2)
_fyms ME cafrm)
R - (er ) a YSGS (Trs )
s=l
(3.2.8) w" R
r
(CIF Price)
(mill price) (3.2.9)
(3.1.14)
. J(L-s)
és sU
G =gan(p') g
s=1 u
(3.2.9) n,

(3.2.4)

(3.2.5)

(3.2.6)

(3.2.7)

(3.2.8)

(3.2.9)

(3.2.9)



S KF
1
| (3.2.10)
3 K
fn-fmo s ko, ko 8%
s=1 S‘ngFﬂ gKF KF KFQ KF
(3.2.11) K. =1

IS:(KS/KF)/éaé.lKS/KFg: Ks élesy

&
1 aK =1

r=1

(3.2.4)  (3.2.13) (3.2.9)

YLs)

(3.2.14) o 1

(3.2.15)
YI’ = RTKI' +\/\/I"vI HI'M +\/\/I'AHI'A’
1
1
1 (3.2.15) (3.2.16)
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(3.2.10)

(3.2.12)

(3.2.13)

(3.2.14)

(3.2.15)



Y =RK AWH! +HE,

(3.2.17)

r=RG/ ",

r

(3.2.8) (3.2.14) (3.2.16) (3.2.17)

3
r
(3.2.7) r
g =s R /w" r i
_asR
Hrc: - WM
wM =1 r K,
Hi=saKR,
r
H' =saKR,
1 (3.3.3)

(3.2.14)  (3.2.16)

(3.2.16)

(3.2.17)

(3.3.1)

(3.3.2)

(3.3.3)

(3.2.8)



(334) (337

K,H} T

r? r

1 2

3.1

(3.3.4)

(3.3.7) r=1 2

Y,=RKgs +HA,
Y, =R (1- K,)s +(1- HP),

G, = gK, +(1- K )T,

C—:.2 = gKlTl—s +(1_ Kl)H]/(ls) ’

R

m . s-1 S-1—r1-s
AR A I

=

R = NG T VG,

n=RG "

(3.3.4)

(3.3.5)

(3.3.6)
(3.3.7)

R.G.Y, T

(3.3.8)

(3.3.9)

(3.3.10)

(3.3.11)

(3.3.12)

(3.3.13)

(3.3.14)



1 2
1 1
3.2 —
1
2
K,=LHA=0
(3.3.8) (3.3.15)
Y, =S
Y, =1,
G=1
G, =T,

(3.3.14) (3.3.15)

47

(3.3.15)

(3.3.16)
(3.3.17)
(3.3.18)

(3.3.19)

(3.3.20)

(3.3.21)



_ rr}/s ;§Tl—s +TS—lH

r , 3.3.22
2 -I-m ( )
r,>1 —
r,£1 —
(3.3.22) (3.3.23)
= Dg Trs M4 sy 3.3.23
=06 a, (3.3.23)
(3.3.23) s =5m=s /(s +1)
T r
3-1
3-1
ro
1.4
1.2}
1.2 1.4 1.6
0.8
0.6
3-1
3-1 2
1.52585 1.728



1 1 —
1.728
(sensitive analysis) s =3 (3.3.23)
2.9371 —
s =2 —
26.7755
S =5 —
1.7271 s =6 — 1.5759
(3.3.23)
( ) -

Neary (2001)

3.3
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K,=K,=K=12 HA=HA=H*=12
1 (3.3.8) (3.3.9) (3.3.10)
(3.3.11)
Y ==(s +1), (3.3.24)
)
G:%(1+T15)CH'H , (3.3.25)
dY, = dY =-dY,,dG, = dG =- dG,,dR, = dR=- dR,
(3.3.8)  (3.3.10)  (3.3.12)
dy =s g%lK +%ng, (3.3.26)
&Go_ 22 .0 (3.3.27)
€Gp (1-s)
dR = 2%55—“92| ay + g(s 1)2(5 1) E?’gi (3.3.28)
(3.3.27)  (3.3.28) z
o % (3.3.29)
T=1  (3.3.29)
z=0 T
(autarky) Z 1
z 0



—G

(3.3.26) (3.3.27)
(3.3.14)
(3.3.27) (3.3.30)
dK
(3.3.32)
dr/dK 3 0
(3.3.32)
3-2

s =3s =2;s =5

(3.3.28)
2780 - [s +1)z3
r=— &8 ?1_ =z (3.3.30)
dr =G’ édR m?£%1 (3.3.31)
(3.3.31)
i aemo . U
| 25 5°6 6 +1)ZH_ 2z | (3.3.32)
i (1- mz) (@-s)’ e
T b
dr/dK <0
r =08,m=s /(s +1)
(3.3.32)

I
(o))

3-2

3-2
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dr

dK
0.75 ¢}
0.5

0.25 |

1.5 2
-0.25 ¢
-0.5 ¢

-0.75 ¢

(critical value)

2.025

3.4

3.2 3.3
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2.5

T=2.025



(3.2.8)



(3.4.1)

1

(3.4.3)

HrM =arVVrM7 ar30
r 1
(3.3.1)  (3.3.2)
(3.4.2)
H:j:KrQ SMRT_’
eW" g
VVrM - ?‘S R‘ gKr’
a
e r @
r
a'I'
(3.4.3) (3.4.1)
(3.4.4)
H' =.rsa,RK,,

(3.4.1)

(3.4.1)

(3.4.2)

(3.4.3)

(3.4.4)



(3.4.3) (3.4.4)
(3.2.8) (3.2.14) (3.2.16)
Y. =sRK, +H", (3.4.5)
S
é s (s
1R 3s 02 -
- €2 Kk 5% s
G, (rs)zégle 2 " TS g (3.4.6)
e s
s 2
@-G%ar e o S - 1-501
R =Cc=+C - maYsGs 1Trs - (347)
85 el Kr 4] g s=1
r=RG, ", (3.4.8)
(3.4.5) (3.4.8) Y..G.R
r K,H} T, as,m r
- 1 2
1 —
4.1
(3.4.5) (3.4.8) r=1 2
Y, =RKs +H}, (3.4.9)
Y, =R, (1- K,)s +(1- Hf), (3.4.10)
e 1—_s s u]/(l's)
14 3-s A 2 3-s 2 -
Gl:(rs)E'?Kngdig +(1- Kl)TEE&E T=U 0 (3.4.11)
¢ éa, g éa, g u
é s
& s e r
=(rs)esKiz =+ TU+(1-K)2 == ¥, (3412
g éd, g éa, g E



4.2

3.1

ael

Rl—gs

ael
_88

s-1

oaea OS 1

%1 K, g

|H

oaea2
ger K,

Cf
ﬂ

(3.4.9)

._\

(3.4.14)

2

{ ngGI +YG 1T15§1+s

2

{ miG T VG

(3.4.13)

(3.4.14)

(3.4.15)

(3.4.16)

(3.4.17)

(3.4.18)



G=25Y (3.4.19)

ed; ﬂ

1
G =391, (3.4.20)

el g
R =1 (3.4.21)

& 2 2
- G+ = 2
Rzzaei_ig'aeazs O R A (3.4.22)
83 ga.K, g
— (3.4.15) (3.4.16)
(3.4.19)

= 07 (3.4.23)

eds g

2 I, r
1 2 — 2
0 K, =0
(3.4.22) R, ( ) (3.4.22)
0 r, (3.4.23)
R,
K,=1K,=0
K, 0 0

(3.4.9) (3.4.16)

A _

m=05r =08a,=1a,=1K,=099, H =0

3-1
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r, r
1 5.79 0.81
1.25 5.41 0.77
1.5 5.15 0.74
1.75 4.95 0.73
2 4.80 0.72
2.5 4.62 0.71
3 4.52 0.71
6 4.40 0.71
9 4.39 0.71
3-1
1
3-1
1
rnL=0.81
r, =579
3 r, =071
r, = 4.52
0.71 4.39 —




4.3

K,=K,=K =12;HA=HA=H"=1/2

R=R=R=1 (3.4.9) (3.4.12)

Y =%(s +1), (3.4.24)
1
Hed67 al6? o e
G:(rs)z_._gz_ € s Tl (3.4.25)
§ 2 a b
a, =a,=a

dY, =dY =-dv,,dK, =dK =- dK,, dG, =dG =- dG,

d,=dr=-dr, (3.4.9) (3.4.16)

dY =s dK +%s dR, (3.4.26)
GO 2Z diaB-S 0§ A od-s 0,0
— = —=jc—=dK + c=Z-——=dRy), 3.4.27
§Gp El-sp& 2 g 208 2 B ( )
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22? 9 ai:n 9 2mag > ;Zzu
drR=£ ~ ﬂzm > 9 uﬂ udK, (3.4.28)
® 0] 2
Z+ 1-s)Z°
gl &l+sy & z( ) t
a#lG ou
dar =G R- m, 3.4.29
ed EG ﬁju ( )
(3.4.25)  (3.4.27) (3.4.28) (3.4.29)
: 22 &M 9 Zmaé S :ZZE :J
-,eg +S g S o u_manZc_s i
: gl ae2m 92 _l_aemo(l S)Zzlﬂ &l-s g :
dr _ ol € El+s g & o i
— =G
dK il €,8d-s0, ,,eem 0 aBS"zUUY
il e2 2m 2z i
::aé so+a=l s 0é 81+S@ 81+Sg g u;/:
(i€ 2 5¢&4 5 §. ®2M 6, NG\ S)Zzg T
i gl+S 5 & g U bp
(3.4.30)
(3.4.30) (3.4.30)
(3.4.30)
(3.4.30)
m=05r =08 a-=1 3-3



-1.005 |

3-3

4.4
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(3.4.30)



(3.2.28)

(free goods)

(economic

goods)
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5.1

0
(3.2.8)
0
r
(3.3.1) (3.3.2)
¢s_®r o0 @R 0
= =K =, 3.5.1
Elrg Wy R
r H r
w_a&r o &K 0
S T oo
(3.5.2) r r
r
r W"/R) r (K./HM)



(capital abundant) r

r (labor abundant) r
(3.5.2) (3.2.4) (3.2.7) r
(3.5.3)  (3.5.4)
_er o_@a&K 0o
° 3.5.3
TS o
HM
Mol 3.5.4
T = (3.5.4)
(3.5.3) (3.5.4) r '
(3.5.3)
(3.2.9)
1
--éR IS ul—S
G _a&er géé K52 s 69F§M 9 Tgl-s a (3.5.5)
1-1 gge EHY 5 g
S 2
r r '
]
(3.5.2) (3.2.8) r ( )
1-s 1
1 s 3
eaer O&K OU é& YGS 1-|-15 (3.5.6)

R =(sm)s il-rggHM_u 891 s u,

1 (3.5.6)



YS GS
r
Y =sRK, +H?", (3.5.7)
r ( )
r=RG, ", (3.5.8)
(3.5.5) (3.5.6) (3.5.7) (3.5.8) r=1,2
Y, =s RK, +H2, (3.5.9)
Y, =s RK,+H2, (3.5.10)
s B
.. UL-s
s B O s&®R, 0 .
G, = aer_o z R O +K,” R; = T™0 , (3.5.11)
G Gy TN Gy o
1
@&r o8 ,s®@R 0 _,.. .®R 6 Ul'
G, = ﬁ+§K12 gHRM - T +K 22 gHRZM 5 , (3.5.12)
28 1 0 2 8§
T 1
ié%r O%K ous s-1 S-171-5 o
=(smmag—~—L -y €Y, +Y,G,° T 3.5.13
R1 ( )ﬁl-r'HlM% elGl 22 t ( )
Ls
iy i} s
R, = (SM)™ G2 G 9GS T +Y,G 1us (3.5.14)
% - I géH; o
n=RG " (3.5.15)
r,=RG, ", (3.5.16)



52
1 2
K1:K2:]/2,H1M:H2M:]/2 HlA:HZA:J/Z (3.5.9)
R=R~=1
1
Y =—(s +1),
(s +1)

@SO --
adl grs sae 1 =

G=2 “Gl+TY S s
82@ 8l-rg€]- Hl

(3.5.12)

(3.5.17)

(3.5.18)

dY, =dY =-dY,, dG =dG =-dG,,dR =dR=-dR,, dK,=dK =- dK,

(3.5.9)
1
dy =sdK +5S dR,
(3.5.11)
dG 1ael S 6
——2 _Z K+-c0— dR
81 S g gj -S ﬂ u
(3.5.13)
62(1 1 2 1 2U
2(1-s)+=ms°Z- =ms (2- s)(1+s)Z%;
dR:S 2 2
6 1 o, 1 . 20
&3 Z+4ms(1+s)(1 S)ZH
(3.5.21) m=05,r =0.6
3-4

(3.5.19)

(3.5.20)

(3.5.21)



dr
dK

-1. 15;
-1. 16¢
-1.17¢
-1. 18

-1. 19

1.5 2 2.5 3

(3.5.21)

(3.5.20)

i
dG __a2-s 6 l
— =20—Z11+—= = 2
G El-sg ; 282-sg %-%rrszz+%ns(l+8)(1-s)z

é 1 1 20U
Lai-s of L S) 15T 25 (2 5)(rs)Z g
: 2U )/ K’
" |

s

1
(3.5.22)

(3.5.22) 3-5

3-5
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dc/C
dK
: : . = T
: 1.5 2 2.5 3

-0.05F

-0.1}

-0.15f

-0.2f

-0.25}

_0.3f

-0.35f

3
(3.5.15)
a8lG o0
dr =G "HdR- m 3.5.23
r= @d "eG a ( )
(3.5.21) (3.5.22) (3.5.23)
(3.5.24)

‘%(1 s)+ims2z- Lns (2- s)(1+5)z2Y U

" 2 2 i, a2-s OZ:

! és-lmszz+lms (1+s)(1-s)22l:J %1 Se i
dr ml 4 4 H i
d_K_G L é l‘JUy’

il €5 (1.- s 27- = 2uli

:':'%'1 1&1-3582(1 s)+=nms?Z- =ns (2 S)(“S)Zay

|| 282-5 g % 1 274 1rrs (1+S)(1 S)Zzu ||

(K} 4 bp

(3.5.24)
m=0.5r =06 (3.5.24)
dr/dK
dr/dK

3-6



5.3

3-

dr

dK

-0.7¢

-0. 75¢

-0. 8¢

-0.85¢

-0.95¢

10
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(economic goods)
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